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1. T arEdfdsh §&ar x 0l § & d&ar 3R g8 991 & IR &1 & aer

=geIdH ¢ Ig HTIT FT 872
a) -0.625
b) -0.125
0.125

1

(@)
(b)
()
(d)

d

2. @ &equT §&AW m 3R n (M > n) & T H AR 72 §1 GeIqoT FEAm3t
& fhdal JFA TS HA?

3. AT NfAT N T 5-3/hT g&ar g1 519 N & 6, 12, 15, 24 & fQuiad
fopar ST & @ sAw: 2, 8, 11, 20 AV §=cT g1 N &1 §gdH HT & g

99960

a)
b) 99956
) 99950
)

99946

(
(
(c
(d
4. 111°% + 222°% + 333" &1 5 & ffoId X T ATHS FIT &l &
a) 1
b

(a)
(b) 2
(c) 3
(d) 4
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5. 4321012345 x 98766789 & Uil H 3ifad ofieT 31 T g?

6. p.(X* + y* + 2°) & ITHAGUCH &l ST x =1,y =2,z=3,d p=70
glAgx=-1,y=1z=5arp & AF FT & ?

a) 100
b) 125
c) 135

(
(
(
(d) 140

7. AT ST N, 11 FT TgdH GelicAsh o & 547 6, 12, 15, 18 @
faenfad 3t T Avher 5 TEaT &1 AFATAET H § FiT-a1 TeT &2

a) 900 < N < 1000

b) 1000 < N < 1100

c) 1100 < N < 1200

(@)
(b)
()
(d)

d) 1200 < N < 1300

1. A real number x is such that the sum of the number and four times
its square is the least. What is that number?
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2. The difference of the square of two natural numbers m and n (m > n)
is 72. How many pairs of natural numbers will satisfy?

(a) 3
(b) 4
(c) 5
(d) 6

3. Let N be a 5-digit number. When N is divided by 6, 12, 15, 24 it
leaves respectively 2, 8, 11, 20 as remainders. What is the greatest
value of N?

(a) 99960
(b) 99956
(c) 99950
(d) 99946

4. what is the remainder when 111?%2 + 222°% + 333** is divided by 5?

a) 1

b
C

(
(
(
(d

)
)
)
)

5. What are the last three digits in the multiplication of 4321012345 x

987667897
a1, 0,5

)
b) 2, 0, 5
)2 1,5

)

(
(
(
d) 3, 0,5
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6. p varies directly as (x> + y* + z°) When x = 1, y = 2, z = 3, then p
= 70 What is the value of p when x = -1, y=1,z=57

7. Let N be the least positive multiple of 11 that leaves a remainder of
5 when divided by 6, 12, 15, 18. Which one of the following is correct?

(@) 900 < N < 1000
(b) 1000 < N < 1100
(c) 1100 < N < 1200
(d) 1200 < N < 1300

1 1 1
ST VRGP v LG v mww e SR 67

(00]

9. YT x TolehH H @s Ifadd 24 AFs H gk X ot & 3R A Y
TolThie H @3 IFd Hf 18 AHhs H IR & oidl ¢l d faadia feem & ged
@W-Waﬁm@?ﬁ'ﬁwwﬁ?ﬁ%lX@rin?ar(speed)WYﬁinﬂ
q FAT 39T &7

@ 1:2
(b) 2 : 3
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10. ATl NTST p,g FARIOT X° + mx - n = 0 & HeT & 3R m, n FHAFIT
X*+px-q=0%FAT & (M, n, p, q LEIR FE&T §)| ArAfaf@a # &
HIA-AT/PIA-H FHUT TeT &/e

. m(m + n) = -1

. p+ q=1

A f&U 91T e & JANT F 3H AT ¢
(a) Fad |

(b) Faer |l

(c) | 3R Il gt

(dyaarl, =T &l

11. 8sin® - 4 sine &1 JTAHIH AT FIT g7
(a) 3
(b) 4
(©) 8
(d) 12

12. (1 + tanatanB)?® + (tana-tanB)? fFaes R & ?
a) tana tan’p

b) sec®a sec’p

c) tan®n cot®p
)

(
(
(
(

d) sec’a tan’p
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13. fAFATafEd ®Yal W AR fifTw:
|. tan 50° - cot 50° &/ATcHS &

l. cot 25° - tan 25° HKUNcHAS &

SAH DlI-HI/DIT-H YA T 8/ ?

(@) dae |

(b) Faer I

(c) | 3R Il gt

(dyaarl, agrll

1 1

1 1
- - ?
\/E+\/§+ \/ﬁ+\/ﬁ+ V12 + V11 T ot V196 + /195 equal to*

8. what is

9. Train X crosses a man standing on the platform in 24 seconds and
train Y crosses a man standing on the platform in 18 seconds. They
cross each other while running in opposite directions in 20 seconds.
What is the ratio of speed of X to speed of Y?

(@ 1:2
(b) 2:3
(c)1:3
(d)3:4
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10. Let p, g be the roots of the equation x> + mx - n = 0 and m, n be

the roots of the equation x> + px - ¢ = 0 (m, n, p, q are non-zero
numbers). Which of the following statements is/are correct?

. m(m + n) = -1
. P +q=1

Select the answer using the code given below:

(@) | only

(b) 1l only

(c) Both | and 1l
(d) Neither | nor Il

11. What is the maximum value of 8sin® - 4sin’0 ?
(@) 3
(b) 4
(c) 8
(d)

d) 12

12. What is (1 + tana tan B)® + (tana - tan B)? equal to ?
a) tan®a tan’p

b) sec®a sec’p

c) tan®n cot’p
)

(
(
(
(d) sec’o tan’p

13. Consider the following statements:
|. tan 50° - cot 50° is positive

ll. cot 25° - tan 25° is negative
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Which of the statements is/are correct?

(@) | only

(b) Il only

(c) Both | and I
(d) Neither | nor Il

14. gfe 0 <(o - B)g(oH-B)s%,tan(a-k B) = V3 3R tan(tx'ﬁ):%ﬂ:rr
tana.cot2p fhadh s § ?

(@) 1
(b) V2
(c) V3

(d) =

15. sin“0 cos’0 (sec’® + cosec’d) FI AT Thdsh s g ?

a) 0

(a)

(b) 1
(c) 2
(d) 4
16. Ifg 645720 + 6452 = 16387 0 <0 < % ar tan® + cotd T AT FAT &2
a) 1

b

(@)
(b) 2
(c) 3
(d) 4
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17. AT cosecd - cotd = m 3T secod - tand® = n, ar cosecHd + secOd ThTH

18. U 1d) & o W T fdg X @, AN & A fFar @ & fNgsit P 3R
Q & 3aAHA HIUT HAA: o I B &1 I fig X 7 dr &g & h Fug |
g, dr s1dr &I <ists a1 § afg o 3R p Q@ g7

(a) 2h(tana + cota)
(b) H tana . tanf

(c) hcota . cotp
(

d) hseca . coseca

19. 37sT ABC #, £ABC = 60°3iR AD 3=i5 &1 Ife AB = 6 cm 3R BC
= 8cm, df 38T FT &TFThel FAT 87

(a) 12 square cm
(b) 12+/3 square cm
(c) 24 square cm
(d) 24+/3 square cm

14.if 0 <(a - P) < (a+P) <% tan(a + f) = ﬁandtan(a—6)=%, then

what is tana.cot2p equal to?
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16. if 64°" + 64°*% = 16 where 0 <6 < 7, then what is the value of tan®
+ coto?

(a) 1
(b) 2
(c) 3
(d) 4

17. if cosecO - cotd = m and secH - tan® = n, then what is cosech +
seco equal to?

(a) % (m+n+%+ rl—l)
(b) (m+n+—+3)

(C)%(m+n— L l)

18. From a point X on a bridge across a river, the angles of depression
of two points P and Q on the banks on opposite side of the river are «
and B respectively. If the point X is at a height h above the surface of
the river, what is the width of the river if a and B are complementary?
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(a) 2h(tana + cota)
(b) H tana . tanf
(c) hcota . cotf

(d) hseca .coseca

19. In a triangle ABC, £ABC = 60° and AD is the altitude. If AB = 6cm
and BC = 8cm, then what is the area of the triangle?

a) 12 square cm

(a)
(b) 12v/3 square cm
(c) 24 square cm

(d) 24+/3 square cm

20. I p 3R g FHASOT x° - sin®6x - cos?0 =0 F FA &, dF p° + q° F

TATH AT FAT §7?

a

b

—_ N

(@)
(b)
()
(d)

N N | W

d

21. n TEIT3T &7 AR AT M g1 IS 98ef (n - 1) Jaf &1 J9T7 k g, ar
ndl TEIT AT &7
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22. 3, 9, 27, 81, 243, 729, 2187 o1 U;FU'ﬂ?IT HATET T 872

a) 81

b) 105

—
I

c) 14

(a)
(b)
(c)
(d) 243

23. T Fd IR T A, B, C, D # & 9% & 1000 9T 9fd 1 kg, 2
kg, 4 kg, 5 kg T &X ¥ 1 kg I U@} TIEAT g1 dg 3iadsr 1000 ¥9T &
x kg T 9rasy @AEAT g, dl X &l Hieelhe Al FIAT g7?

(a) 1.95
(b) 2.00
(c) 2.05
(d) 2.10

24. Tehel 3P IS FEIBA (TRIGR & o) 71 3TGNT Hieh =15 19

TIH 93 3R 9T O 4-37hT Tt Fr Aer F24r § 2
a) 7887
b) 7997
8998

9889

C

(
(
(
(d

)
)
)
)

25. 3%®° &1 28 ¥ [AHTad e WX AR FAT IR ?
a) 1

b

—

1
2

S

(a)
(b)
(c)
(d) 27
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26. x(0 <x <8) &1 AT Fa1 ¢ Ife (100 + 100>+ x + 1) F 9 A
o T 9T A9H 0 &8 |

a) 8

b
C

d

(
(
(
(d) 1

)
)
)
)

20. If p and q are the roots of the equation x* - sin0x - cos?® = 0, then
what is the minimum value of p? + g??

a)

b)

1
2
1

(
(

21. The arithmetic mean of n numbers is M. If the sum of first (n - 1)
terms is k, then what is the nth number?
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23. A person purchases one kg of tea powder from each of the four
places A, B, C, D at the rate of 1000 per 1 kg, 2 kg, 4 kg, 5 kg. If on
an average he purchased x kg of tea powder per 1000, then what is
the approximate value of x?

24. What is the sum of the largest and the smallest 4-digit numbers
made by using single digit prime numbers (without repetition)?

(a) 7887
(b) 7997
(c) 8998
(d) 9889

25. What is the remainder when 3%*° is divided by 28?
a) 1

b

—

1
2

D

(a)
(b)
(c)
(d) 27

26. What is the value of x(0 < x < 8) if (100 + 100> + x + 1) leaves
a remainder 0 when divided by 97

(@) 8
(b) 6
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27. T T3esT ABC #, BC ¥ D U& fag g1 Ifg AB.DC = AC.BD «BAD =
a 3R 2CAD = g ar eafaf@a & O sia-ar agr &7

28. AT aNfaiw N = 12345678AB T 10-37h1T I&AT &, &l A, B 31 &
gfeg N, 9 ¥ [ersy §, o [eafai@d # I Si9-Ar/aia-8 U el 8/ ?

. (A + B)9 & A= §
. af¢ A fawa g, o B flaveA §
;hﬁﬁcmaga:rmwmgﬁm:

a

(@) Shaet

(b) shael I

(c) | 3R Il gt

(dyaarl, agrll
29.Hﬁx3+x%=%3-ﬁTy3+}%=%,Fﬁﬁmﬁ'@ﬁﬁﬁaﬁﬂ-lﬂxyﬂ
AT & ?

(a) 3

(b) 6

(c) 8

(d) 9
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30. IE 11x + Sy Ueh 37T HE&AT (prime number) & ST@T X, y eTqor
{EIT (natural number) § @T (X + y) & geTdH Al FAT g7

a
b

3
4
c) 5
6

(@)
(b)
()
(d)

31. T 4-37HT T&T N & Sk 15 e At &1 N? & ey Attt Y

32. I p, q 3R r fh&AT FHRIOT ST T o3t H g (cm H) B, @ (p
-q-1(Q-r-p)(r-p-q) Hqaa

a) shddl UeATchH ¢

(

(b) Shael FOMcHS &
(C) dhadl AN &
(d) &

g HOIaT &

8 4
33. (a®+a*+ D)8+ b

+1) '
i , &I =eAH A FAT §, 56l a > 0, b > 0?

a) 1

b

© »H

(a)
(b)
(c)
(d) 16
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27. In a triangle ABC,D is a point on BC. If AB.DC = AC.BD, «BAD = «
and 2CAD = B then which one of the following is correct?

@ a=28
(b) a =2p
(c)
(d)

a

C) 2a = B
d) 2a = 3P

28. Let N = 12345678AB be a 10-digit number, where A, B are digits. If
N is divisible by 9, then which of the following statements is/are correct?
l. (A + B) is divisible by 9

Il. If A is odd, then B is odd

Select the answer using the code given below:

a) | only

b) Il only

d) Neither | nor Il

(a)
(b)
(c) Both | and I
(d)

1 730

29. If x3+ x% = % and y3 + el then which one of the following is

a value of xy?
(a) 3
(b) 6
(c) 8
(d) 9

30. If 11x + 5y is a prime number where x, y are natural numbers then
what is the minimum value of (x + y)?
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a
b

3
4
c) 5
6

(a)
(b)
()
(d)

31. A 4-digit number N has exactly 15 distinct divisors. What is the total
number of distinct divisors of N??

32. If p, g and r are the lengths (in cm) of the sides of a right-angled
triangle, then (p - g - (g - r - p)(r - p - q) is always

a) Positive only

(@)
(b) Negative only
(c) Non-positive only
(d)

d) Non-negative only

f (@®+a*+1) %+ b*+1)
a* bt

33. What is the minimum value o
07?

. where a > 0, b >

© bh
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34. 200 ©TET T Th H&T H, n BT I 3R Hr ST T Hd g 2n oF
P THEG P §, 3 BT I GHS I o 40 BF o d I/, o & Hihr
qHE A &1 n FT AT FAT § ?

35. Al ofifSiT ABC U Y37l & Tor@ehr alather 36 a9 cm &1 Ife AB =
9cm, BC = 12cm 3R 2ABC = 0 @l cost fordah s & ?

—~~ o~ o~ —~~
Q (P O Q)
~ ~ ~ ~
S EE

36. ATl AT n Teh GaAqoT HEAT &1 n, n + 10 & HCF 10 gl If& LCM x
Teh 2-37h1 T&AT), df x & Tohdel AT T9T & ?

37. a* + 2a3 + 3a%+ 2a+1 3R a® - 243+ 1T HCF =71 872
(@) a®+ 3a®>+ 2a+1

(b) a®+ a’?+ a+1
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(c) (a®> + a+1)?

(d) (a® — a +1)?

38. TG FHIRIOT x2 — (k—2)x+ (k +1) = 0% el S} &, @l k & A

39. M) (cotf — cosecd) Thash STeX g7

cos B+sin 6—1

-1

40, Sn0250°0 Gk SRIER 87

2soc360—cos 6

34. In a class containing 200 students, n students prefer both tea and
coffee; 2n students prefer coffee, 3n students prefer tea; 4n students
prefer neither tea nor coffee. What is the value of n?

https://www.pygonline.com




35. Let ABC be a triangle with area 36 square cm. If AB = 9 cm, BC =
12cm and £ABC = 0, then what is cos6 equal to?

—~ —
o O
A A
wlin Wk *'ﬁ

36. Let n be a natural number. The HCF of n, n + 10 is 10. If the LCM
is x (a 2-digit number), then how many values of x are possible?

a) only one

)

b) only two

c) only three
)

d) more than three

(
(
(
(
37. What is HCF of a* + 2a® + 3a®+ 2a+1 and a® — 2a% + 1?
a) a®+ 3a’+ 2a+1

)
b)
)
)

ad+ a’+ a+1

c) (a®> + a+1)?

(
(
(
(d) (a? — a + 1)?
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38. If the roots of the equation x? — (k—2)x + (k +1) = 0are equal, then
what are the values of k?

39. What is (M) (cotB — cosecB) equal to?

cos O +sin 6—1

a) -1

b) 0

—

C

d

(
(
(
(d) 2

)
)
)
)

i 9—2 sin3
40. What is ;mgﬂ equal to?

cos 38— cosO

41. U FeT H 150 ©E T AET AR (mean weight) 60 kg &1 FHeTT H SE)
HT ATET HR 70 kg 3R SEBN &7 55 kg &1 ©ET T T&IAT 1 SEBT
HEIT @ 3HeuTd & 87

1:2

a

(a)
(b) 1:1
(c)
(d)

c) 2:1

2
d) 2:3
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42. a1 Tl A 3R B fSieteht 3a1g e 23 m 3R 11m §, Teh gal & 9m
i gt W T&ud 81 gl el & ofiNt &l Ueh Wl o3 @ ST Sar g1 A &
MY T a7 g3 S, B & MY W 9gwel & v o3 W gedr g1 I sex &
g R W 9gasl & fav 5 Ade 97d &, aF §eX &1 3iad a1 (speed)
T 872

a) 10 m/min

(

(b) 5 m/min
(c) 10 cm/sec
(

d) 5 cm/sec

43. Teh r T3S drell ANAThR oehsT T 3ig &l Ueh &1 e ¥ I[oiel arel dail
H Pied §U 3MS FawH AN 7 fQIfSd fhar Sirar &1 gede JfaH ghs
gSET &Tthel FT 87

(a) -

(b) 3nr

44. T glel, TTEH Th gEY & U Hied T gl X ar ufgw o §, & HgweT
% IRT 3T 50 HeX Fsar ared (G0 9fgT gar’r a7 fhv S & fav) garsr
¢ IX SIEIUEd (clockwise) HHTMT ST &1 IfG Ycdeh afgu i FRear

3MAT 1 $e § 3N grar gfgar 1000 SR gAT 8, o gEr 9fgdr fohdell IR
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45. 70 x 71 x 72 x 73 x 74 x 75 x 76 x 77 x 78 x 79 = 1000 &
FHToId AT 9T AYHT FIT BT ?

a) 3
b) 2
)
)

—

C

d) 0

(
(
(
(
46. 80m €IS FT Th FrAreR THT &ifdel do W AT &1 @H FT 3MUR P

Wglarfig AR B W@ E ™ P, A B T & dith W@ W gl & «ifoe
A 3R B @ @ & MY I IeoTdel HIUT HHM: o 3N B (a > p) &1 TG PA =
64m 3R AB = 36 m g al (o +p) fhash SRR 872

41. The mean weight of 150 students in a class is 60 kg. The mean
weight of boys in the class is 70 kg and that of girls is 55 kg. What is
the ratio of number of boys to number of girls?

@ 1:2
(b) 1 : 1
(c) 2:1
d) 2 :3

42. Two towers A and B of height 23 m and 11 m respectively, stand 9
m apart. A straight rod is joined to the two tops of the towers. A
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monkey sitting on the top of A, climbs the rod to reach the top of B. If
the monkey takes 5 minutes to reach the other end, what is the average
speed of the monkey?

a) 10 m/min

b) 5 m/min

(
(b)
(c) 10 cm/sec
(d)

d) 5 cm/sec

43. A spherical wooden ball of radius r is to be divided into eight
identical parts by cutting by planes passing through the same diameter.
What is the surface area of each final piece? https://www.pyqonline.com

(a) -

(b) 3172

44. A trolley with two wheels one metre apart is moved clockwise on the
circular track around a ground with radius 50 m (described by right
wheel). If the size of each wheel is of 1 foot radius and the right wheel
turns 1000 times, how many times will the other wheel turn?

a) 1010

c) 1020

(a)
(b) 1015
(c)
(d)

d) 1025
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45. What is the remainder when 70 x 71 x 72 x 73 x 74 x 75 x 76 x
77 x 78 x 79 is divided by 10007?

3
2

a

b

—

C

d

(
(
(
(d) 0

)
)
)
)

46. A vertical pole of length 80 m is situated on the horizontal plane.
The base of the pole is at P. There are two points A and B such that
P, A, B are on the same straight line. Let the angles of elevation of top
of the pole from A and B be a and B(a > B) respectively. If PA = 64 m
and AB = 36m, then what is (a+ ) equal to ?

47. A NIAT k garquiier g1 X3 + x¥0 + x¥ + 332 a1y (1 + x3)(1 +
x°) & fFfara et W HATeTher T g ?

a 8k

b

x

8k+1

X

8k+2
C

d

x

+
)(8k 3

(@)
(b)
()
(d)

48. 14 cm ¥l dTet T3 & IR Teh T 58 YR 3T fohar Sram & T
AR @9 & HiA, AET TIN AT H31T & Fegad f6g3it & Furer g1 awa
gaif & T ACTATT 817 F &% FAT g7
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49. TF TSIV B H IR BT T S H S I g1 A Feger
&T%heT 54 @ cm B, o gt 1 aR@ATT 4T 87

(d) 7v3 & g
31T 37T dTel dieT (03) 9=l & fov fesifeiidd o) faar fifsv :

A AIfSiT ABC T 33T & Sff B R FFHIONT g1 AT ST BC T P
fig 5@ 9wR § 7 BP = PC | Ifg AB = 10cm, «BAP = 45°3iR 2CAP= 6

(tan(a + B) = tan @t tanf EFF':YWT@'%I’U)

1—tana tanf

51. tan® forgeh e 87

https://www.pygonline.com




52. gf¢ «ACP = y d tany fhaes sRTeR 87

—~~
Q)
~

~~
O

N N

—_ WIN Wk N

a

47. Let k be a positive integer. What is the quotient when X33 + x3*¢ 4+

x¥*9 + X812 is divided by (1 + x*)(1 + x°%)?

48. A square is drawn inside a square of side 14 cm in such a way that
the corners of the inner square coincide with the mid points of the sides
of the outer square. What is the area lying between the two squares?

(a) 98 square cm
(b) 56 square cm
(c) 49 square cm
(d)

d) 24.5 square cm

49. The base of a right-angled triangle is % times the height of triangle.
If the area of the triangle is 54 square cm, then what is the perimeter of
the triangle?
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50. What is the area of a triangle having sides 4, 4 and 6 units?
(@) 3v7 square unit
(b) 8 square unit
(c) 7 square unit
(d) 7+/3 square unit

Consider the following for the next three (03) items that follow:

Let ABC be a triangle right-angled at B. Let P be the point on BC such
that BP = PC. If AB = 10 cm, £ZBAP = 45° and ZCAP = 6

(use tan(a + B) = tanattanp_ )

1 -tana tanf

51. What is tan6 equal to?

(a) ;
(b) 3
(c) 5
(d)

52. If ZACP = vy, then what is tany equal to?
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53. fAEfAf@d Fyal W R ffgw
. ¥@r @s AP 3351 ABC & &19thel &l & sRIeR #1I & faenfara e g

II. 38757 APC T 9RATT 46 cm ¥ 31T &

lIl. 3351 APC T &%l 50 a7 cm g

39T H @ HiT-AT HYUT T g7
a) &had | 3R I

(
(b) Faer 1 3R 1l
(

c) &haer | 3R 1
(d) I, Il 3= 1

3TeT 37 arel ar (02) 9R&AmRiT & fov Hrfaf@d W faar Sifee

JRERAT §¢o 39 YR g

3%

18-26

27-35

36-44

45-53

54-62

63-71

72-80

o gEar

5

7

10

15

54. SRERAT d¢o 39 YK &

55. §ca &l g (mode) T g7

(a) 47.25
(b) 47.75
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(c) 48.25
(d) 48.75
31TeT 3TeT aTel gl (02) 9e=Amel o fov fafaf@d X faar fifaw :

ABC T& 38l & S B W GHAIUNT & fear arar g fF AC - AB = 2 cm
3 BC = 16 cm

56. I ~BAC = 0 d sind + cosf fras s §7
(a) 1

(b) =
(c) =
(d) =

57. afe BD 8T AC WX o g, dl BD &I faTs 1 g7

(a) —= cm
(b) == cm
(c) g cm
(d) £ cm

53. Consider the following statements:

|. The line segment AP divides the area of the triangle ABC into two
equal parts

Il. The perimeter of the triangle APC is more than 46 cm
lll. The area of the triangle APC is 50 square cm
Which of the statements given above are correct?

(@) I and Il only

https://www.pygonline.com




(b) Il and Il only
(c) | and IIl only
(d) I, Il and Il

Consider the following for the next two (02) items that follow:

A frequency distribution is as follows:

Marks 18-26 | 27-35 | 36-44 | 45-53 | 54-62 | 63-71 | 72-80

Number of students 5 7 10 15 8 3 2

54. What is the median of the distribution?

55. What is the mode of the distribution?

a) 47.25

b) 47.75

c) 48.25

(a)
(b)
(c)
(d) 48.75

Consider the following for the next two (02) items that follow:

ABC is a triangle right-angled at B. Given that AC - AB = 2 cm and BC
= 16cm
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56. If .BAC = 0 then what is sind + cos6 equal to?

—

a

b

N o

0\\10\| ~
alo lw Gg|r

(@)
(b)
()
(d)

57. If BD is the perpendicular on the side AC, then what is the length of
BD?

3TeY 1o aret i (03) &R & fov fHeAfaf@d @ faur fifgv .

A oifoit MN U fohdll ga &r 16 cm ofdl Sftar &, Tordenr &g o 3R f&ear
10 cm 81 M 3R N ¥ wdisar (&Sfe) Nig P w gfdese & g1 3R, OP,
MN &I f§g Q R dad: gfaesg ar &

58. OQ fraes seT &7

59. PM frash SR & ?

https://www.pygonline.com




(a)

(b) 12 cm
(c) 43—0 cm
(d) 2 cm

60. 37T OMN T & thel T 872
(a) 36 T cm
(b) 40 & cm
(c) 45 d9T cm
(d) 48 TET cm

61. Teh U 3R 39 §1¢ ar U | 3R Il few 17 1 9 3R FUAT W
faar fifeT 3R & [eeg o R%TT Hifaw |

9ee @ k T qUiieh A (integral value) T § fordeh folw edeen (expression)
4% - kx + 1 YellcHh g ?

FTdA-l 1 k < -2
FYA-Il : k > -4
3T WReT 3R YA & HIH H HAeATIGT A F HloA-A1 e g ?

(@) W& I IR ol Ueh HUel HT 3UANT Fleh [GAT S Fehell §, fore] el
GHY YT I 3UANT Feh 81 &A1 ST Fehell &

(b) A T 3T Gledl H A hadl [hdl Th HUA BT STAET deh AT ST
TehdT &

(C) 9T T 3R QoA HUAT F TH WY 3UART Hh 6T T Fhell ¢, o]
hadl fhEl Th HUT T 3YART Feh oIl AT Sl ohdl g

(d) 92T &T 3T Sl HAAT HT Teh TATY 3YANT Fih oY AT fear 1 g &

https://www.pygonline.com




Consider the following for the next three (03) items that follow:

Let MN be a chord of length 16 cm of a circle with centre at O and
radius 10 cm. The tangents at M and N intersect at a point P. Further,
OP intersects MN perpendicularly at Q.

58. What is OQ equal to?

60. What is the area of triangle OMN?
(a) 36 square cm
(b) 40 square cm
(c) 45 square cm
(d)

d) 48 square cm

61. A question is given followed by two statements | and Il. Consider
the Question and the Statements and mark the correct option.
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Question: What is the integral value of k for which the expression 4x? -
kx +1 is positive?

Statement-| : k < -2

Statement-Il : k > -4

Which one of the following is correct in respect of the above Question
and the Statements?

(@) The Question can be answered by using one of the Statements

alone, but cannot be answered using the other Statement alone
(b) The Question can be answered by using either Statement alone

(c) The Question can be answered by using both the Statements

together, but cannot be answered using either Statement alone

(d) The Question cannot be answered even by using both the
Statements together

62. Teh U 3R 3T a1 & YU | 3R Il few v §| v 3R Ui W
R fifaT 3R T8 ReeT &1 AT ST

9ol : A, B 3R C toary fhasr feail & &7 gdAca X Iohd 87
FUA-l1 : A 3R B THATT S F 24 AT § gATCT T IHhd &
FUA-1l : B 3R C THATT 1A H 36 &t H THATCT T Thd &
39 9o AR HYeAT & G F rfaf@d & & wla-ar @@ g2

(a) TR&T T 3T hdol Ueh Ul HT 3UANT Feh [GAT ST Fehell 8, fohe] hael
gEX HUF HT 3UANT FIH AET AT ST Fehell &

(b) T2T &T 3T Sl H T haol hEl Th HUA Hl 3T Fleh AT ST
el &

(C) 92T T 3R QA HUAT 1 T WY 3UANRT Hh &A1 ST Fhell 8, o]
$ad [hdT U HUT T 3UYIRT I el 6T AT bl &

(d) T2 &T 3R Sl HUAT HT Teh ATY YT Fih 37 g7 fear 1 dhar &
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63. Teh U2 3R 3% &1 & &= | 3T 1| Rw v & e 3 FUai |
TR Hifar 3k T8 RJeea & R™fgaa HifaT |

U2 : AT §H Ueh TJISS gol T8l Tohdl § Sif 3TATST & ?

FUA-l 1 x2 - 26x + 133 = 0

-1l : X*- 44x + 475 = 0

3RFT 9 3R FYAl & dou & efafad & a fla-ar @ & 2

(@) 9T T 3TN hdel Uk HYUA H YA FXeh fGAT ST Hevell &, for] Shael
GO YA T 3YART FIh 161 AT ST Fohll &

(b) 9T FT 3R el A & Fad [FdY TH FUT T 3UATT F& fear ar
T §

(C) TR T 3 Glell Al &M T | ITANT Heh AT S el €, o]
had [RET Tk FHYT FHI I FIh gl AT ST bl g

(d) T2 &T 3T Sl HUAT T Teh TTY YA hih 37 AT fear a1 ghvar &

62. A question is given followed by two statements | and IlI. Consider
the Question and the Statements and mark the correct option.

Question : In how many days can A, B and C together finish the work?
Statement-I: A and B together can finish the work in 24 days
Statement-ll: B and C together can finish the work in 36 days

Which one of the following is correct in respect of the above Question
and the Statements?

(@) The Question can be answered by using one of the Statements
alone, but cannot be answered using the other Statement alone

(b) The Question can be answered by using either Statement alone

(c) The Question can be answered by using both the Statements
together, but cannot be answered using either Statement alone
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(d) The Question cannot be answered even by using both the
Statements together

63. A question is given followed by two statements | and Il. Consider
the Question and the Statements and mark the correct option.

Question : Can we have a common solution which is prime?
Statement-l; x* - 26x + 133 = 0
Statement-Il: x* - 44x + 475 = 0

Which one of the following is correct in respect of the above Question

and the Statements?

(@) The Question can be answered by using one of the Statements
alone, but cannot be answered using the other Statement alone

(b) The Question can be answered by using either Statement alone

(¢c) The Question can be answered by using both the Statements
together, but cannot be answered using either Statement alone

(d) The Question cannot be answered even by using both the
Statements together

64. Teh Y2 3R 39 &€ & YU | 3R 1l fow 91w §| v 3R FUar W
R fifeT 3R TE TFeeg o1 RTaa fifaw |

9o : FaT 327" + 173", 500 ¥ ™FHST & ?

HYA-| : n YA G=AqoT AT (natural number) §

HYA-1l : n Teh T qUlieh (positive integer) &

3T WReT 3R YA & FoU H HAeATIGT A F HloA-A1 T g ?

(a) TR&T T 3T Shdol Ueh Ul HT 3UANT Feh 6T ST Fehell 8, fohe] hael
GHY YT HT YA Fh o781 &A1 ST Fhl &
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(b) 9T FT 3R Al A T Fad [FAY TH FUT T 3UART Fh f&ar ar
TohT &

(C) 9T T 3R QA HUAT & TH WY 3UART Hh &A1 ST Fhell ¢, o]
$ad [RAT U FUT T 3YINRT I Agl 6T AT bl &

(d) 92T &7 3R fRaT ot FueT &1 3uAter forw o= of fear S aar &

65. Teh g2 3 3T+ a1 & &U | 3R 1l TU 1w & weeT 3R FUal W
AR fifeT 3R T8 [T & REaa HifaT |

9T : IfE Uelel i dhIAdl H 20% T HT deftr gl §, o T A el
yfere &t el i Sl wfge arfe saa dar & & @ ?

Y- : Ul I HAT 90 FUT 9f oliey AT
FYUA-Il : FAT H IS & ggel WA 24 ofie A
39YF 9o AR YA & T F eATiGd 7 & Sle-ar @gr g ?

(@) W& T 3R ol Ueh U HT 3UANT Fleh [GAT ST Fehell §, fore] el
GERX HYT FT 3YANT FIH AT §AT AT Tehell §

(b) T2T &T 3T Sl H T haol ThaEl Th HUA Hl 3UAET Hleh AT ST
TohT &

(C) 92T T 3R QA HUAT 1 Teh AL 3UANLT Hh &A1 ST Fhell 8, o]
oo FEY T FUT FHT 3UANT Fh gl AT ST Fhdl &

(d) W &7 3T fohaY off YT &1 3uAier o o= off fear s g@evar &

64. A question is given followed by two statements | and Il. Consider
the Question and the Statements and mark the correct option.

Question : Is 327" + 173" divisible by 5007?
Statement-l : n is odd natural number

Statement-Il: n is a positive integer
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Which one of the following is correct in respect of the above Question
and the Statements?

(@) The Question can be answered by using one of the Statements
alone, but cannot be answered using the other Statement alone

(b) The Question can be answered by using either Statement alone

(c) The Question can be answered by using both the Statements
together, but cannot be answered using either Statement alone

(d) The Question can be answered even without using any of the
Statements

65. A question is given followed by two statements | and Il. Consider
the Question and the Statements and mark the correct option.

Question : If the price of petrol goes up by 20%, by what percentage
should the consumption be reduced so that the expenditure remains the
same?

Statement-I: Price of petrol per litre was Rs. 90
Statement-ll: Consumption was 24 litre before price hike

Which one of the following is correct in respect of the above Question
and the Statements?

(@) The Question can be answered by using one of the Statements
alone, but cannot be answered using the other Statement alone

(b) The Question can be answered by using either Statement alone

(c) The Question can be answered by using both the Statements
together, but cannot be answered using either Statement alone

(d) The Question can be answered even without using any of the
Statements
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66. Teh YT 3R 3% &1 & &= | 3T 1| {T v & g 3 FUar |
TR fifar 3k T8 Jeea & Rfgaa HifaT|

9 : P o dcel &l Q & dcdel & 36U 6:5 &1 P 1 T fovelall 872
HYA-I: P Id HT Q H TId F 9T 3:2

FYA-Il: P & T FT Q & T F 3qud 1:1 8

3RFA 9 3R FYeAl & dou & efafad & a fla-ar @ 872

(@) TR&T T 3R ol Ueh Ul HT 3UANT Fleh [GAT ST Fehell §, fore] el
GHY YT HT YN Fleh 81 1GAT ST Fehell &

(b) T2T &T 3R GlAl H T haol Thal Teh el I YA Hich AT oI
Tohl &

(C) TR &I 3 Glell Al &M T AT ITANT Heh AT S el €, ]
had [RET Tk FHYT FHI I FIh gl AT ST bl g

(d) 92T &T 3T Sl HUAT HT Teh TTY YA Fih 37 g7 fear a1 ghvar &

67. Teh U2 3R 3T d1¢ & YU | 3R Il few v g v 3R Ui W
R fifar 3R T8 [T o1 RTAET AIfST |

UReT U el quiteRt (different integers) # & gead 8 3R oEgaH 2 Bl
geT quUiiehl &7 3 T §7?

hUA-| : HfY 5 Ui T AT 5 M 0TS &
HYA-1l : fawH quitent I dear favA §
39ded 99 AR ST & T F eAiaf@d 7 @ i @8 g ?

(a) TR&T T 3T ol Ueh Ul HT 3UANT Fleh 6T ST Fehell 8, fehe] hael
gEX HUF HT 3UANT FIH ¢! AT ST Fehell &

(b) QT FT 3R &l H T Fad [FAr TH FUT T 3UART Fh a1 a1
Tohdl &
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(C) 9T T 3R QA HUAT 1 Th WY 3UANRT Hh &A1 ST Fhell 8, o]
$ad [RT U FUT T 3YIRT Fh gl 6T AT bl &

(d) 92T &T 3R Sl HUAT HT Teh TATY YT hih 37 g7 fear 1 e &

66. A question is given followed by two statements | and Il. Consider
the Question and the Statements and mark the correct option.

Question: The ratio of P's salary to Q's salary is 6:5. How much is P's
expenditure?

Statement-l: The ratio of P's saving to Q's saving is 3:2

Statement-ll: The ratio of P's expenditure to Q's expenditure is 1:1

Which one of the following is correct in respect of the above Question
and the Statements?

(@) The Question can be answered by using one of the Statements
alone, but cannot be answered using the other Statement alone

(b) The Question can be answered by using either Statement alone

(¢) The Question can be answered by using both the Statements
together, but cannot be answered using either Statement alone

(d) The Question cannot be answered even by using both the
Statements together

67. A question is given followed by two statements | and Il. Consider
the Question and the Statements and mark the correct option.

Question: The largest of five different integers is 8 and least is 2. What
is the average of these integers?

Statement-l : The sum of all the 5 integers is a multiple of 5

Statement-Il: The number of odd integers is odd
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Which one of the following is correct in respect of the above Question
and the Statements?

(@) The Question can be answered by using one of the Statements
alone, but cannot be answered using the other statement alone

(b) The Question can be answered by using either Statement alone

(c) The Question can be answered by using both the Statements
together, but cannot be answered using either Statement alone

(d) The Question cannot be answered even by using both the
Statements together

68. Taeh YT 3 3TF a1 g ¥« | 3 1| RT v & v 3R F2Ual |
AR fifaT 3R TG Trea &1 REaa HifaT]

9ol : oliel 3ol #R (different weights) &1 @ X quiter § 31X 3eTer TleT
U 3T EAT (prime number) &1 AR FAT-FAT § ?

FUA-| : 3AH T TH AN gAY AR & T &

HYUA-Il : 3FAH F Teh HR g AR T Al T[T &
39 e AR ST & T F eAiai@d 7 & i @8 g ?

(a) TR&T T 3R ol Ueh Ul T 3UANT Fleh 6T ST Fehell 8, fehe] hael
gEX HUF HT 3UANT FIH AET AT ST Fehell &

(b) T2T &T 3T Sl H T haol hEl Th HUA HI 3T Fleh AT ST
el &

(C) 9T T 3 Gleil YT T Teh A 3YATT b AT S Fehell &, T
oo FEY T HUT FHT 3UANT P gl &AT ST Fhdl &

(d) 9T FT 3T AT HAAT HT Teh TTY 3UJNET ik Y 87 Ar S v &

69. Teh YT 3R 3% &1 & &= | 3T 1| Rw v & e 3 FUar |
TR Hifaw 3k T8 RJeea & RAfgaa HifaT |
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geel : 10 9¥ &7 FAICT ) ATA fhder grefr 2

Foe-| | FEU 1,00,000 YT ¥

HUA-1I; sTTeT T & 10% 9fd av g

3RFT 9 3R FYAl & dqou & efafad & @ fla-ar @ & 2

(a) 99T & 3T Fdel U HUT HT 3UANLT Heh GAT oI Fhell &, o Faer
CEY YT T IUANT e g1 &A1 ST Hehl &

(b) 9T FT 3R el H T Fad [FdY TH FUT T 3UAT Fh fear ar
T &

(C) TR T 3 Glell AT &M T WY ITANT Heh AT S el €, ]
had [RET Tk FHYT FHI I FIh gl AT ST Hhdl g

(d) 92T &T 3T ST HUAT HT Teh TTY 3YANT Fih 3T g7 fear 1 ghar &

68. A question is given followed by two statements | and Il. Consider
the Question and the Statements and mark the correct option.

Question: There are three different weights. All the weights are integers
and their sum is a prime number. What are the weights?

Statement-I: One of the weights is twice the another weight

Statement-ll: One of the weights is thrice the another weight

Which one of the following is correct in respect of the above Question
and the Statements?

(@) The Question can be answered by using one of the Statements
alone, but cannot be answered using the other Statement alone

(b) The Question can be answered by using either Statement alone

(c) The Question can be answered by using both the Statements
together, but cannot be answered using either Statement alone
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(d) The Question cannot be answered even by using both the
Statements together

69. A question is given followed by two statements | and Il. Consider
the Question and the Statements and mark the correct option.

Question: What is the amount at the end of 10 years?
Statement-I: The principal amount is ¥1,00,000
Statement-ll: Rate of interest is 10% per annum

Which one of the following is correct in respect of the above Question

and the Statements? https://www.pyqonline.com

(@) The Question can be answered by using one of the Statements
alone, but cannot be answered using the other Statement alone

(b) The Question can be answered by using either Statement alone

(c) The Question can be answered by using both the Statements
together, but cannot be answered using either Statement alone

(d) The Question cannot be answered even by using both the
Statements together

70. Teh Y2 3R 3T d1¢ & HUA-1 3T 1l *E v g 92T 3 Sy |
R fifeT 3R TE TFeeg o1 RTaa fifaw |

YT FT p? + pq + q° fawH § 56T P, q Ui § ?
YAl p + q TH &

$UA-1: pq YT &

3T WReT 3R YA & FoU H HAeATIGT A F HloA-A1 T g ?

(a) TR&T T 3T Shdol Ueh Ul HT 3UANT Fleh 6T ST Fehell §, fohe] hael
GHY YT HT YA Fh o781 &A1 ST Fhl &

https://www.pygonline.com




(b) 9T FT 3R &l A T Fad [FAY TH FUT T 3UAET Fh f&ar ar
TohT &

(C) 9T T 3R QA HUAT & T WY 3UART Heh &A1 T Fhell 8, o]
$ad [RAT U FUT T 3YINRT I Agl 6T AT bl &

(d) 92T &T 3R ST HUAT BT Teh ATY YT hih 37 g7 fear 1 Fhar &

71. fondly &9 1 ST STerEEar 10,000 & e qost 3R Afgensit 1 aear
TR &l Fel TG H § 30% FAER I Ggal dlel &1 Fol AR T
UG dret H @ U fAgr$ 3l FAER 97 ged §1 Fer 3 HAER oF
qgal arell H ¥ 20% ATy §1 37 qEN Hr FeAr e § S e FAER
gF e Yed &?

a) 800

b) 2100

(
(
(c) 4200
(d) 39T sl & HROT FUTRT A& fhar S ahdr

72. fdT 3T &1 AThdH &F%el, 9T cm H, FIT § gt aRATT 400
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74. 64% T GEHS FAT § ?
(a) 0.08%

(b) 0.8%
(c) 8%
(d) 80%

70. A question is given followed by two statements | and Il. Consider
the Question and the Statements and mark the correct option.

Question: Is p?> + pq + g° odd where p, q are integers?
Statement-l p + q is even

Statement-ll: pq is odd

Which one of the following is correct in respect of the above Question
and the Statements?

(@) The Question can be answered by using one of the Statements
alone, but cannot be answered using the other Statement alone

(b) The Question can be answered by using either Statement alone

(c) The Question can be answered by using both the Statements
together, but cannot be answered using either Statement alone

(d) The Question cannot be answered even by using both the
Statements together
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71. The total population of an area is 10,000 out of which males and
females are equal in number. Out of the total population 30% are
Newspaper readers. Out of the total newspaper readers, one-third read
English News-paper. Out of the total English News-paper readers, 20%
are females. What is the number of males who do not read English
Newspaper?

a) 800

(

(b) 2100
(c) 4200
(

d) cannot be determined due to insufficient data

72. what is the maximum area of a rectangle in square cm, whose
perimeter is 400 cm?

100
200
1000

(a)
(b)
(c)
(d) 10,000

73. what is the remainder if we divide 3" by 7?

a0

(@)
(b) 1
(c) 2
(d) 4
74. what is the square root of 64%7?
(@) 0.08%

(b) 0.8%
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(c) 8%
(d) 80%

75. 10" 53R 100 + p I IR I T AT E, ST pUH 3FH gl p F
foraer AT Tefad g7

76. Ffaf@d syt W AR fIfST :

. 61 fTFfaT ar § 107'% - 76" &r
Il. 100 fFenfara aar & 67° + 33° &l
39T # F HlA-AI/HIA-H HUT HET o/6?

a

(@) et

(b) shael I

(c) | 3R Il gt
(dyaartl, agrll

77. @HAR ¥ AR dF R U 3w gugy &1 i\ adAsT 31°C g1 afe
Repls foT 910 FgTdd ar9AET 30°C § ar gaH @ fhdll Ueh faeT T arugd &t
TATIAT 3IThdH dTIHATT FT § 9O Repre Far o1 avar & 2

34°C

a
35°C
36°C

b
C

37°C

(
(
(
(d

)
)
)
)
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78w (v + L) = (y+ ) = (y+ D)= (s+ L) v 42 22y,

79.p =n(n + 1)(n + 2)(n + 3) + 1, & HIY H, FT@l n Teh YU HEAT §,
fArfaf@a st W fFar fifFv :

|. p gder [Ave &

Il. p Teh qof @1 &

39T H § HIA-A/HIA-Q ST TEY 8/6?
a) shael
b) shael I

) 1 3R 1l g
dysarl, &l

C

(
(
(
(

75. The difference of 10! -5 and 10* + p is divisible by 3 where p is a

digit. How many values of p are possible?
a) 4
b) 3

(
(
(
(d) 1

)
c) 2
d)

76. Consider the following statements:

|. 61 divides 107'%° - 76
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II. 100 divides 67° + 33°

Which of the statements given above is/are correct?

(@) | only

(b) Il only

(c) Both | and I
(d) Neither | nor Il

77. The average of the temperatures recorded at noontime from Monday
to Sunday is 31°C. If the lowest temperature recorded is 30°C then what
is the maximum of temperature that is possible to record at noontime on
any one of the days

(@) 34 °C
(b) 35 °C
(c) 36 °C
(d) 37 °C

78. if (x+ yi)— (y+ °) = (y+ —) - (z+ %)and
X+ z # 2y,thenwhat is xyz equal to?

(a) -3
(b) -1
(c) 1
(d) 3

79. Consider the following statements in respect of p = n(n + 1) (n + 2)
(n + 3) + 1, where n is a natural number:

l. p is always odd

Il. p is a perfect square
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Which of the statements given above is/are correct?

(@) | only

(b) Il only

(c) Both | and I
(d) Neither | nor Il

80. Ugell 50 §H uAqUT HEATIHT (natural numbers) & 3irad 3R ggell 50
fawe eerquT FEansit & 3iEd & & A AR T4 ?

81. Al UeIfRAT X, y, z 38 YR ¢ fob y, x T Thdgf® AT ¢ 3R z, y
W Thd Y TSl &1 iay saTel & ey AR gt # §HY-31af® T HAT g
frafaf@a & wia-ar @@ §2

2 _

(@) x* =yz
(b) y* = 2x
(c) 2 = xy
(d) x = yz

82. n TEIH Hehel ot &l A I I TP 1 SHrs & 3T el oy ar
AR T & TIT Pt F 9T & g 1 3w | R wue w©
faarR ffaT

.nd g &1 et 2n + V2 -2 %
II. n § @ 3R (n - 1) § I7 & &g aFAfIT &ahel n & Tadq ¢
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SRFT HYAN A T HlA-AV/HA-Q Ter 8787

(a) et

(b) Faer Il

(c) | 3R Il gt
(dysarl, agrll

83. Ts 3ad ABCD #H, fdwuif & & ts fawur AC &1 afg AC + AB = 3AD
3R AC - AD = 4 &[S, Al 3d HT &% FIAT 87

(a) 24 T FHTS

(b) 36 T FHTS

(c) 48 T FIS

(d) 72 T SIS

84. TH gER P TIY FI §U il FIWHA el & IR I HT &TTohel
K23 it om ¥ e R # & T g B R @ ¥

80. What is the difference between the average of first 50 even natural
numbers and the average of first 50 odd natural numbers?

a) 0
b) 0.5
) 1
) 2

C

(
(
(
(d
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81. Three amounts X, y, z are such that y is the compound interest on
X; and z is the compound interest on y. The rate of interest per annum
and the time period in years are same. Which one of the following is

correct?

(a) x* = yz
(b) y* = zx
(c) 22 = xy
(d) x = yz

82. There are n concentric squares. The area of the innermost square is
1 unit and the distance between corresponding corners of any two
consecutive squares is 1 unit. Consider the following statements:

|. The diagonal of the nth square is 2n + V2 — 2

Il. The area included between nth square and (n - 1)th square is
independent of n

Which of the statements given above is/are correct?

(@) | only

(b) Il only

(c) Both | and I
(d) Neither | nor I

83. In a rectangle ABCD, AC is one of the diagonals. If AC + AB =
3AD and AC - AD = 4 units, then what is the area of the triangle?
(@) 24 square unit
(b) 36 square unit
(c) 48 square unit
(d)

d) 72 square unit
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84. The area of the circle circumscribing three identical circles touching

2
each other is &%)

square cm. What is the radius of one of the
smaller circles?

85. Ts 38T ABC &, AB = 21 cm, BC = 20 cm 3iR CA = 13 cm g
I 3 W Teh ofd CD Wi Sirem g1 Tefst BCD &7 &1 athel &1 g7

(a) 96 T cm
(b) 84 & cm
(c) 80 @IT cm
(d) 72 =T cm

86. & f3sd A 3R B 81 fSsd A #, ¥ 3R 9ol &7 37gard 1:3 & 3R B
B #, gy 3R Uil & 39id m : n gl I B A 3R B & fAsor 1 2:3
& o # e fear s arfes gy 3R arelr @1 3 0 7 & IHeurd A 20 @ex
T TAHOT IICT &, — FT AT FAT g 7

Q

(=)

g N g p
Ul DWW Wik N

C

(
(
(
(

o

87. T AP, Teh AWMl 3R Uk ook, r AT arel AT IUR R @3 8
3R ot U Toh FAT g1 RS 58 A, IreHalel 3R il & AT
?J’I?TW,Rﬁmmﬁwﬁﬁ%alwd?wq{%ﬁf—jmwﬁ?
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88. g x & wefl quilehry Al (integral values) & T x3 + px? + gx +7
Teh qUileh &, al Sefaf@d sy« X faar HIfav :

. p 3aeT & Uk quiteh grem

IIl. q 3T & U quiieh glam

Il r 39T & Teh qulteh grem

39T # H HlA-AV/RIA-H HUT TET 88 ?
(a) shaer | 3R I

(b) aer Il

(c) I, Il 3R 11l

(d) 1S 8 HueT TEY AET §

85. In a triangle ABC, AB = 21 cm, BC = 20 cm and CA = 13 cm. A
perpendicular CD is drawn upon the longest side. What is the area of
the triangle BCD?

(@) 96 square cm
(b) 84 square cm
(c) 80 square cm
(d)

d) 72 square cm

86. There are two containers A and B. In container A, the ratio of milk
and water is 1 : 3 and in container B, the ratio of milk and water is m:
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n. If the mixture in the containers A and B are mixed in the ratio 2:3 to
get 20 litres of a mixture having milk and water in the ratio 3:7, then

what is the value of % ?

—~_~ o~ o~
2] (=) o))
~ ~ ~

b DWW win N =

a
N

87. A cone, a hemisphere and a cylinder stand on equal base of radius
r and have the same height. If the sum of volumes of cone, the
hemisphere and the cylinder is equal to volume of a sphere of radius R,

3
then what is R—3 equal to?
r

88. If x> + px® + gx + r is an integer for all integral values of x, then
consider the following statements:

|. p must be an integer
Il. g must be an integer
[l r must be an integer

Which of the statements given above is / are correct?

(@) I and Il only

(b) Il only

(c) I, Il and Il

(d) none of the statements is correct
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89. XYZ U 3-3/hIT HEAT §, oal X, Y, Z et AR 3% &1 & 3-37h
AT XYZ 3R YXZ & &g &1 AR 90 g1 I91 (X + Y) & forv fohder aemey

(@)
(b)
()
(d)

(@) ~ (000) ©

90. U & f&sT #, 2.01 pm 3R 4.01 pm & &g &, T "t H fAeAe A T,
s T FS F WY frae IR Farhr g §7

92. Ush B & eI AP T Ush ool & dRedesd, aa e @1 MY 3rdfdase
¢ 3R S 3TUR & odad 8, 14 cm & arel uehHHdlgﬁaiGr%‘.’l [ T
I FT 82 (7 AT = )
(a) 10783 °e cm

1078
(b) F Yol CM
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(c) 539v3 g cm

539
(d) -5 g cm

93. A% 3 cm UR BT arel AT FaHHA o HIA-30a1 IR R 59
YR T 9T § o Jcdeh o 37 & AH3i @l T T T g1 VAT haol Teh
g1 g g1 ST Ah3iT & MWl & Tcdeh A gohT JoRaN| $H I T &bl FT
g7

(@) 3m T cm
(b) 61 FIT cm
(c) 9m &3 cm
(d) 12w g7 cm

94. B WX GHSIUNY T T3 ABC & el Teh g gl Ifd AB = 5 cm
3R BC = 12cm &, o gd < Bsar #2172

89. XYZ is a 3-digit number, where X, Y, Z are distinct non-zero digits.
The difference between the two 3-digit numbers XYZ and YXZ is 90.
How many possible values exist for the sum (X + Y)?

(@) 9
(b) 8
(c) 7
(d) 6

d
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90. How many times does the minute hand of a clock coincide with the
second hand between 2.01 pm and 4.01 pm on the same day?

(@) 121
(b) 120
(c) 119
(

d) None of the above

91. What is the HCF of 2% - 1 and 2* - 1?
(a) 1023
(b) 512
(c) 511
(d) 255

92. The section of a solid right circular cone by a plane containing
vertex and perpendicular to base is an equilateral triangle of side 14 cm.
What is the volume of the cone? (n= %)

a) 1078+/3 cubic cm

1078

b) — cubic cm

C 539\/_ cubic cm

39 .
—= C cubic cm

Ul

(
(
(
(d

)
)
)
)

93. Three identical cones each with base radius 3 cm are placed on
their bases so that each is touching the other two. There will be one
and only circle that would pass through each of the vertices of the
cones. What is the area of the circle?
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(@) 3m square cm
(b) 6m square cm
(c) 9m square cm
(d)

121 square cm

94. A circle is inscribed in a triangle ABC right-angled at B. If AB = 5cm
and BC = 12cm then what is the radius of the circle?

95.naim3ﬁmﬁwwa§aiaa:3ﬁﬁﬁ$aﬁvﬁ$mmwmﬁvﬁ$
WQW%%I dgaidé?quaidﬁqvafmwmw%*?

96. HEAT 199 & m” - n’ & & H @I ST Fehell &, S8l m, n GeAqor
JEIT & (m > n)l mn &7 AT FT § ?

9900
9800

a
b
9701

d) efadaa: Auia @ frar ST aar

(@)
(b)
()
(d)
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97. 2" - 1 & &9 (form) #T 3 2000 & BIE, =N 39T TEAT § ?

98. 160 BTHT I Teh el H, Tcdsh o1F JAsll, BT IR T&hd H 4 7 @
HH Th AN HI 9T T gl Tg UTAT AT & b 130 ©F 373el, 120 o
f&cr 3 110 o1 TERd &1 TFA I ¢ e SF AT A Hael T AN FH
TIT T & A1 g T BT T IIT Fa & O hde oy 0w § o gsh

99. A WfaiT S = 5% + 7°+ 11° + 13§, W@l a, b, ¢ 3 d w=qo
AU g1 519 S A 10 can fIfora fhar Sirar & & S & e Awwhell &hr
TEaT 247 grefr ?

100. T FHMUIT 38T ABC #, A = 90° 3R AD, BC W o« gl Iie
CAD = 60° 3R BC = 6 cm g, df AB fhash sRTeX § ?
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95. The ratio of sum of interior angles to sum of exterior angles of a
regular polygon of n sides is % What is the measure of an interior angle
of polygon?

96. The number 199 can be written as m? - n?, where m, n are natural
numbers (m > n). What is the value of mn?

9900
9800

a
b

c) 9701

(@)
(b)
()
(d)

d) Cannot be uniquely determined

97. How many numbers of the form 2" - 1 and less than 2000 are prime
?

a

b

3
4
c) 5
6

(@)
(b)
()
(d)
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98. In a class of 160 students, each of them opt at least one language
from among English, Hindi and Sanskrit. It is found that 130 students opt
English, 120 students Hindi and 110 Sanskrit. If the students opt either
only one language or all three languages, then what is the number of
students who study all three languages?

99. Let S = 5% + 7° + 11° + 139 where a, b, ¢ and d are natural
numbers. What is the number of distinct remainders of S when it is
divided by 10? https://www.pyqonline.com

a) 1

b

(@)
(b) 4
(c) 5
(d) More than 5

100. In a right triangle ABC, zA = 90° and AD is perpendicular to BC. If
£CAD = 60° and BC = 6 cm, then what is AB equal to ?
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